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1. Find the compound ratio of the following
1 : 2 and 3 : 5

1 : 2 rFkk 3 : 5 dk feJ vuqikr crk,¡A
(a) 3 : 10 (b) 3 : 5

(c) 10 : 3 (d) 5 : 3

2. Find the mixed ratio of the following 1 : 2,
3 : 5 and 5 : 9.

1 : 2, 3 : 5 vkSj 5 : 9 dk feJ vuqikr crk,¡A
(a) 1 : 6 (b) 1 : 5

(c) 1 : 3 (d) 1 : 18
3. Find the compound ratio of the following

0.45 : 0.55 and 
1 4

:
9 5

.

0.45 : 0.55 rFkk 
1 4

:
9 5

 dk feJ vuqikr crk,¡A

(a) 5 : 41 (b) 5 : 44

(c) 44 : 5 (d) 41 : 5

4. Find the duplicate ratio of 14 : 17.

14 : 17 dk oxkZuqikr crk,¡A
(a) 196 : 289 (b) 169 : 256

(c) 197 : 729 (d) 576 : 729

5. Find the duplicate ratio of 0.04 : 0.005.

0.04 : 0.005 dk oxkZuqikr crk,¡A
(a) 1 : 64 (b) 64 : 1

(c) 16 : 25 (d) 25 : 16

6. Find the subduplicate ratio of
16 : 25.

16 : 25 dk oxkZewykuqikr crk,¡A
(a) 4 : 5 (b) 5 : 4

(c) 256 : 625 (d) 625 : 256
7. Find the subduplicate ratio of

1 1
:

0.225 0.256
.

1 1
:

0.225 0.256
 dk oxkZewykuqikr crk,¡A

(a) 16 : 15

(b) 15 : 16

(c) 225 : 256

(d) 256 : 225

8. Find the triplicate ratio of 3 : 5.

3 : 5 dk ?kukuqikr crk,¡A
(a) 27 : 125 (b) 9 : 25

(c)
1 1

3 33 : 5 (d) 125 : 27

9. Find the triplicate ratio of 
1 1

0.49 0.343
: .

1 1

0.49 0.343
:  dk ?kukuqikr crk,¡A

(a) 7 : 10

(b) 10 : 7

(c) 343 : 1000

(d) 1000 : 343

10. Find the subtriplicate ratio of 512 : 729.

512 : 729 dk ?kuewykuqikr crk,¡A
(a) 8 : 9 (b) 8 : 7

(c) 7 : 8 (d) 7 : 9
11. Find the subtriplicate ratio of

1 1

0.343 0.512
: .

1 1

0.343 0.512
: dk ?kuewykuqikr crk,¡A

(a) 7 : 8 (b) 8 : 7

(c) 6 : 7 (d) 7 : 6

12. Find the inverse ratio of 5 : 8.

5 : 8 dk çfrykse vuqikr crk,¡A
(a) 8 : 5 (b) 16 : 25

(c) 64 : 25 (d) 25 : 64

13. Find the inverse ratio of 
1 1

64 512
: .

1 1

64 512
:  dk çfrykse vuqikr crk,¡A

(a) 8 : 1 (b) 1 : 8

(c) 64 : 1 (d) 1 : 64

14. A watermelon is cut into two pieces in
ratio 3 : 5 of weight. The bigger part is cut
into two pieces in ratio 5 : 7 of weight
again. Then find ratio of resulting three
pieces according to their weights.

,d rjcwt dks Hkkj ds vuqlkj 3 % 5 ds vuqikr esa nks
VqdM+ksa esa dkVk x;k gSA muesa cM+s VqdM+s dks Hkkj ds
vuqlkj 5 % 7 ds vuqikr esa nqckjk dkVk x;k gSA rnuqlkj
mu rhukas VqdM+ksa dk vuqikr Kkr dhft,A
(a) 15 : 25 : 26

(b) 5 : 7 : 9

(c) 3 : 5 : 7

(d) 36 : 25 : 35

RATIO (vuqikr)
(CLASSROOM SHEET-2)
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15. A man leaves ` 86,000 to be divided among
5 sons, 4 daughters and 2 nephews, if each
daughter receives four times as much as
each nephew and each son receives five
times as much each nephew, then how
much each daughter receive?

,d O;fDr viuh ` 86]000 dh /ujkf'k dks 5 iq=kksa]
4 iqf=k;ksa] 2 Hkrhtksa esa ck¡Vrk gSA ;fn izR;sd iq=kh]
izR;sd Hkrhts ds /u dk 4 xquk /u izkIr djs rFkk
izR;sd iq=k] izR;sd Hkrhts ds /u dk 5 xquk /u izkIr
djs] rks izR;sd iq=kh dk fgLlk Kkr djsaA
(a) ` 1,000 (b) ` 6,000

(c) ` 8,000 (d) ` 10,000

16. In a cricket match there are three types
of tickets say A, B and C each costing
` 1000, ` 500 and ` 200 respectively. The
ratio of tickets sold from category A, B and
C is 3 : 2 : 5. If the total collection from
selling the tickets is ` 2.5 crore. Find the
total number of tickets sold?

,d fØdsV eSp esa A, B vkSj C rhu izdkj dh fVdVksa
dh dher Øe'k% ` 1000, ` 500 vkSj ` 200 gSA
A, B vkSj C Js.kh esa fcds fVdVksa dk vuqikr 3 : 2 : 5

gSA ;fn fVdVksa dh fcØh ls dqy olwyh ` 2.5  djksM+
gSA dqy csps x, fVdVksa dh la[;k Kkr djsaA
(a) ` 5,000 (b) ` 4,800

(c) ` 50,000 (d) ` 52,000

17. ` 8640 distributed among A, B, C and D
such that 5 times the share of A, 4 times
the share of B, 8 times the share of C and
10 times the share of D all are equal. Find
share of C.

` 8640 dh jkf'k dks A, B, C vkSj D esa bl izdkj
ck¡Vk tkrk gS fd A ds fgLls dk 5 xquk] B ds fgLls
dk 4 xquk] C ds fgLls dk 8 xquk rFkk D ds fgLls
dk 10 xquk lHkh vkil esa cjkcj gSA C dkl fgLlk
crk,¡A
(a) ` 1200 (b) ` 1400

(c) ` 1300 (d) ` 1600

18. When 30% of a number is added to another
number the second number increases to
140%. What is the ratio between the first
and the second number?

tc fdlh la[;k dk 30» fdlh nwljh la[;k esa tksM+k
tkrk gS rks nwljh la[;k 140» gks tkrh gSA igyh vkSj
nwljh la[;k dk vuqikr crkb,\
(a) 3 : 4

(b) 4 : 3

(c) 3 : 2

(d) Data inadequate

19. When 50% of one number is added to a
second number, the second number
increases to four-third. What is the ratio
between the first number and the second
number?

tc fdlh la[;k ds 50» dks fdlh nwljh la[;k esa

tksM+k tkrk gS rks nwljh la[;k 
4

3
 Hkkx gks tkrh gSA

igyh la[;k vkSj nwljh la[;k dk vuqikr crkb,A
(a) 3 : 2 (b) 3 : 4

(c) 2 : 3 (d) Data inadequate

20. In a school 10% of number of boys is equal

to 
1

4
th of number of girls and 10% of

number of girls is equal to 
1

25
th of

number of boys. The ratio of number of
boys and girls is ?

,d fo|ky; esa yM+dksa dh la[;k dk 10»] yM+fd;ksa

dh la[;k dk 
1

4
 Hkkx gS RkFkk yM+fd;ksa dh la[;k dk

10» yM+dksa dh la[;k dk 
1

25
 Hkkx gSA yM+ds rFkk

yM+fd;ksa dh la[;k dk vuqikr fdruk gS\
(a) 3 : 2 (b) 5 : 2

(c) 2 : 1 (d) 4 : 3

21. By increasing the price of entry ticket to
a fair in the ratio 9 : 13, the number of
visitors to the fair has decreased in the
ratio 7 : 4. In what ratio has the total
collection increased or decreased?

,d esys dh izos'k fVdV ds ewY; esa 9 % 13 ds vuqikr
esa o`f¼ djus ij] esys esa vkus okys yksxksa dh la[;k
7 % 4 ds vuqikr esa de gks xbZ gSA dqy ladyu esa
fdl vuqikr esa o`f¼ ;k deh gqbZ gS\
(a) increased in the ratio 52 : 13

(b) increased in the ratio 36 : 91

(c) decreased in the ratio 63 : 52

(d) decreased in the ratio 91 : 36

22. By increasing the price of entry ticket to
a fair in the ratio 11 : 16, the number of
visitors to the fair has decreased in the
ratio 19 : 9. In what ratio has the total
collection increased or decreased?

,d esys dh izos'k fVdV ds ewY; esa 11 % 16 ds vuqikr
esa o`f¼ djus ij] esys esa vkus okys yksxksa dh la[;k
19 % 9 ds vuqikr esa de gks xbZ gSA dqy ladyu esa
fdl vuqikr esa o`f¼ ;k deh gqbZ gS\
(a) decreased in the ratio 209 : 144

(b) increased in the ratio 144 : 209

(c) increased in the ratio 99 : 304

(d) decreased in the ratio 304 : 99
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23. Ratio of the expenditure of a person on
food, rent and other is respectively 3 : 4 : 5.
If their expenditure increase respectively
by 60%, 50%, 20%. Find the ratio of the
new expenditure?

,d O;fDr dk Hkkstu] fdjk;s vkSj vU; [kpZ dk vuqikr
Øe'k% 3 % 4 % 5 gSA ;fn bu enksa ij gq, [kpks± esa Øe'k%
60»] 50» vkSj 20» dh o`f¼ gks tkrh gS] rks u,
[kpZ dk vuqikr crk,¡\
(a) 2 : 3 : 3 (b) 4 : 5 : 5

(c) 5 : 3 : 2 (d) 4 : 5 : 6

24. Two right circular cylinders of equal
volume have their heights in the ratio 1 : 2.
The ratio of their radii is :

leku vk;ru ds nks yEco`Ùkh; csyu dh Å¡pkb;ksa dk
vuqikr 1 % 2 gSA buds v¼ZO;klksa dk vuqikr gS %

(a) 2 : 1 (b) 2 : 1

(c) 1 : 2 (d) 1 : 4

25. If the volumes of two cubes are in the ratio
27 : 1, the ratio of their edges is :

;fn nks ?kuksa ds vk;ru esa 27 % 1 dk vuqikr  gS rks
budh Hkqtkvksa esa vuqikr gS %
(a) 3 : 1 (b) 27 : 1

(c) 1 : 3 (d) 1 : 27

26. The side of a triangle are in the ratio

1 1 1

2 3 4
: : . If the perimeter of the triangle

is 52 cm, the length of the smallest side
is :

,d f=kHkqt dh Hkqtk,¡ 
1 1 1

2 3 4
: :  ds vuqikr esa gSA

;fn f=kHkqt dk ifjeki 52 lseh- gks rks lcls NksVh
Hkqtk fdruh yEch gksxh\
(a) 24 cm (b) 8 cm

(c) 12 cm (d) 9 cm

27. In two triangles, the ratio of the areas is
4 : 3 and the ratio of their heights is 3 : 4.
Find the ratio of their bases.

nks f=kHkqtksa esa {ks=kiQyksa dk vuqikr 4 % 3 gS vkSj Å¡pkb;ksa
dk vuqikr 3 % 4 gSA buds vk/kjksa dk vuqikr Kkr
dhft,\
(a) 16 : 9 (b) 9 : 16

(c) 9 : 12 (d) 16 : 12

28. A hound pursues a hare and takes 6 leaps
for every 7 leaps of the hare, but 5 leaps
of the hound are equal to 6 leaps of the
hare. Compare the speed of the hound and
the hare?

,d f'kdkjh dqÙkk ,d [kjxks'k dk ihNk djrk gS rFkk
ftrus le; esa f'kdkjh dqÙkk 6 Nykax yxkrk gS mrus
le; esa [kjxks'k 7 Nykax yxkrk gSA fdUrq f'kdkjh
dqÙks ds 5 Nykax [kjxks'k ds 6 Nykax ds cjkcj gSA
f'kdkjh dqÙks vkSj [kxks'k dh xfr dk vuqikr crkb,\
(a) 36 : 35 (b) 35 : 34

(c) 34 : 33 (d) 33 : 32

29. A hound pursues a hare and takes 3 leaps
for every 4 leaps of the hare, but 2 leaps
of the hound are equal to 3 leaps of the
hare. Compare the speed of the hound and
the hare?

,d f'kdkjh dqÙkk ,d [kjxks'k dk ihNk djrk gS rFkk
ftrus le; esa f'kdkjh dqÙkk 3 Nykax yxkrk gS mrus
le; esa [kjxks'k 4 Nykax yxkrk gSA fdUrq f'kdkjh
dqÙks ds 2 Nykax [kjxks'k ds 3 Nykax ds cjkcj gSA
f'kdkjh dqÙks vkSj [kxks'k dh xfr dk vuqikr crkb,\
(a) 9 : 8 (b) 7 : 6

(c) 5 : 6 (d) 8 : 9

30. A policeman starts to chase a thief. When
the thief goes 10 steps the policeman
moves 8 steps and 5 steps of the policeman
are equal to 7 steps of the thief. The ratio
of the speeds of the policeman and the
thief is :

,d njksxk ,d pksj ds ihNs Hkkxrk gSA ;fn pksj 10
dne pyrk gS rks njksxk 8 dne pyrk gS vkSj njksxk
ds 5 dne pksj ds 7 dne ds cjkcj gSA njksxk vkSj
pksj dh pkyksa dk vuqikr gS %
(a) 25 : 28 (b) 25 : 26

(c) 28 : 25 (d) 56 : 25

31. The ratio of fares of 1st and 2nd classes
between two railway station is 10 : 7.
Further, the fares are increased in the ratio
of 3 : 4 and 5 : 9 respectively. If the ratio
of the number of passengers of the both
classes is 3 : 5 and hence total ` 30,900 got
as a fair. How much amount collected from
2nd class?

nks jsyos LVs'kuksa ds chp izFke rFkk f}rh; Jsf.k;ksa ds
fdjk;s ds chp 10 % 7 dk vuqikr Fkk rFkk ckn esa
fdjk;s esa Øe'k% 3 % 4 vkSj 5 % 9 ds vuqikr esa o`f¼
gqbZA ;fn bu nksuksa Jsf.k;ksa esa ;k=kk djus okyh ;k=kh
3 % 5 ds vuqikr esa gks rks dqy ` 30]900 fdjk;s ds
:i esa izkIr gksrs gSaA f}Rkh; Js.kh ls fdruh jk'k fdjk;s
ds :i esa izkIr gq,\
(a) ` 18,900

(b) ` 19,400

(c) ` 20,200

(d) ` 17,300
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32. A mixture of 30 litres contains milk and
water in the ratio of 7 : 3. How much water
shold be added to it so that the ratio of
milk and water become 3 : 7?

;fn 30 yhVj feJ.k esa ikuh vkSj nw/ dk vuqikr
7 % 3 gS] rks fdruk ikuh vkSj feyk;k tk, fd nw/
vkSj ikuh dk vuqikr 3 % 7 gks tk,\
(a) 40 liters (b) 49 liters

(c) 56 liters (d) 63 liters

33. A barrel contains a mixture of wine and
water in the ratio 3 : 1. How much fraction
of the mixture must be drawn off and
substituted by water so that the ratio of
wine and water in the resultant mixture
becomes 1 : 1.

,d tx esa 'kjkc vkSj ikuh dk vuqikr 3 % 1 gS] rks
feJ.k dk fdruk Hkkx fudky dj mruk gh ikuh
feyk;k tk, fd u, feJ.k esa 'kjkc vkSj ikuh dk
vuqikr 1 % 1 gks tk,A

(a)
1

4
(b)

1

3

(c)
3

4
(d)

2

5

34. A container contains 60 litre of milk. From
this container 6 litre of milk was taken out
and replaced by water. This process was
repeated further two times. The amount of
milk left in the new mixture is :

,d crZu esa 60 yhVj nw/ gSA blesa ls 6 yhVj nw/
fudkydj mruk gh ikuh feyk;k tkrk gS vkSj ;g
izfØ;k 2 ckj vkSj nksgjkbZ tkrh gS] rks u, feJ.k esa
nw/ dh ek=kk Kkr djsaA
(a) 34.24 litre (b) 39.64 litre

(c) 43.74 litre (d) 47.6 litre

35. There is 81 litres pure milk in a container.
One-third of milk is replaced by water in
the container. Again one-third of mixture
is extracted and equal amount of water is
added. What is the ratio of milk to water
in the new mixture?

,d crZu esa 81 yhVj 'kq¼ nw/ gSA nw/ dk ,d&frgkbZ
Hkkx fudkydj mruk gh ikuh Mkyk tkrk gSA ;g izfØ;k
,d ckj fiQj nksgjkbZ tkrh gS] rks u;s feJ.k esa nw/
vkSj ikuh dk vuqikr Kkr djsaA
(a) 1 : 2 (b) 2 : 2

(c) 2 : 1 (d) 4 : 5

36. In four containers, ratio of milk and water
is 5 : 3, 2 : 1, 3 : 2 and 7 : 4 respectively.
In which container, quantity of milk
relative to water is minimum?

pkj i=kksa ds feJ.kksa esa nw/ vkSj ikuh Øe'k% 5 : 3,

2 : 1, 3 : 2 vkSj 7 : 4 ds vuqikr esa gSA fdl ik=k
esa ikuh ds lkis{k nw/ dh ek=kk lcls de gS\
(a) First

(b) Second

(c) Third

(d) Fourth

37. A mixture contains wine and water in the
ratio 3 : 2 and another mixture contains
wine and water in the ratio 4 : 5. How
many litres of the latter must be mixed
with 3 litres of the former so that the
resulting mixture may contain equal
quantities of wine and water?

,d feJ.k esa 'kjkc o ikuh dk vuqikr 3 % 2 gS vkSj
fdlh nwljs feJ.k esa ;g 4 % 5 gSA nwljs feJ.k esa
fdruh ek=kk igys feJ.k dh 3 yhVj ek=kk esa feykbZ
tk, fd u, feJ.k esa 'kjkc o ikuh 1 % 1 ds vuqikr
esa gks tk,\

(a)
2

5
5

 litres (b)
2

5
3

 litres

(c)
3

3
4

 litres (d)
1

4
2

 litres

38. A container two liquids A and B in the ratio
7 : 5. When 9 litres of mixture are drawn
off and replace by B, the ratio of A and B
necomes 1 : 1. How many litres of liquid
A was in the container initially?

,d crZu esa nks nzo A o B, 7 : 5 ds vuqikr esa gSA
tc 9 yhVj feJ.kdks fudkydj mruh gh ek=kk esa B
esa feyk;k tkrk gS rks A o B dk vuqikr 1 % 1 gks
tkrk gSA vkjaHk esa crZu esa nzo A dh ek=kk fdruh Fkh\

(a) 26 (b)
1

16
2

(c)
3

36
4

(d)
3

26
4

39. The ratio of spirit and water in two mixture
of 20 litre and 36 litres is 3 : 7 and 7 : 5
respectively. Both mixtures are mixed
together. Now the ratio of the spirit and
water in the new mixture is :

20 yhVj vkSj 36 yhVj ds nks feJ.kksa esa fLçV vkSj
ikuh dk vuqikr Øe'k% 3 % 7 vkSj 7 % 5 gSA ;fn nksuksa
feJ.kksa dks ,d lkFk feyk;k tkrk gS rks fLçV vkSj
ikuh dk vuqikr u, feJ.k esa D;k gksxk\
(a) 9 : 10

(b) 29 : 27

(c) 27 : 29

(d) 25 : 29
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40. The ratio of mixture of milk and water of
three containers are 2 : 3, 4 : 3 and 1 : 2
respectively. If one liter mixture is taken
out from each container and poured into
new container, then find the ratio fo
mixture of milk and water in new
container?

rhu crZuksa esa nw/ rFkk ikuh dk feJ.k Øe'k% 2 % 3]
4 % 3 rFkk 1 % 2 ds vuqikr esa gSA ;fn izR;sd crZu ls
,d yhVj feJ.k fudkydj ,d u;s crZu esa feyk
fn;k tk, rks u, crZu esa nw/ vkSj ikuh dk vuqikr
Øe'k% D;k gksxk\
(a) 137 : 178 (b) 178 : 135

(c) 137 : 168 (d) 155 : 146

41. Two container A and B contains milk and
water in the ratio 4 : 1 and 2 : 1
respectively. The mixture is taken out from
containers A and B in the ratio
3 : 4 and mixed together. Find the ratio of
milk and water in the new container.

nks crZu A vkSj B esa nw/ vkSj ikuh dk vuqikr Øe'k%
4 % 1 vkSj 2 % 1 gSA bu crZuksa esa ls 3 % 4 ds vuqikr
esa feJ.k fudkydj u, crZu esa feyk fn;k tkrk gSA
u, crZu esa nw/ vkSj ikuh dk vuqikr crk,¡A
(a) 61 : 30 (b) 62 : 55

(c) 76 : 29 (d) 9 : 7

42. Two container A and B contain a mixture
of milk and water in the ratio 3 : 1 and 2 :
1. Ratio of the quantity of mixture of both

container A and B is 4 : 3.  
3

4
th quantity

of container A and 
2

3
rd quantity of B are

mixed together in a new container. Find
the ratio of milk and water in the new
mixture?

nks crZu A vkSj B esa nw/ vkSj ikuh ds feJ.k dk
vuqikr 3 % 1 vkSj 2 % 1 gSA nksuksa crZuksa A vkSj B esa
nw/ vkSj ikuh ds feJ.k dk vuqikr 4 % 3 gSA crZu A

esa ls  
3

4
Hkkx rFkk crZu B esa ls 

2

3
 Hkkx dks ,d

u;s crZu esa vkil esa feyk fn;k tkrk gSA u, feJ.k
esa nw/ vkSj ikuh dk vuqikr crkb,\
(a) 40 : 17

(b) 45 : 11

(c) 43 : 17

(d) 17 : 16

43. Ratio of milk and water in a mixture is 3 :
2. If 40 litres of mixture are taken out and
replaced by water. Then the ratio of milk
and water becomes 2 : 3. Find the initial
quantity of mixture.

,d feJ.k e s a  n w/ vk S j  i kuh dk vu qi kr
3 % 2 gSA ;fn blesa ls 40 yhVj feJ.k fudkydj
mruk gh ikuh feyk fn;k tkrk gS rks feJ.k esa nw/ vkSj
ikuh dk vuqikr 2 % 3 gks tkrk gSA feJ.k dh izkjafHkd
ek=kk crkb,A
(a) 100 litres (b) 120 litres

(c) 105 litres (d) 140 litres

44. The ratio of milk and water in a mixture
is respectively 7 : 5. 9 litres of mixture are
taken out and replaced by water then the
ratio of milk and water becomes 7 : 9. Find
the initial quantity of mixture and initial
quantity of milk?

,d feJ.k esa nw/ vkSj ikuh dk vuqikr Øe'k% 7 % 5
gSA bl feJ.k esa ls 9 yhVj feJ.k fudkydj mruk
gh ikuh feyk fn;k tkrk gS ftlls nw/ vkSj ikuh ds
feJ.k dk vuqikr 7 % 9 gks tkrk gSA feJ.k dh izkjafHkd
ek=kk rFkk nw/ dh izkjafHkd ek=kk crkb,\
(a) 36 liters, 21 liters

(b) 30 liters, 20 liters

(c) 32 liters, 22 liters

(d) 34 liters, 22 liters

45. The bottle of equal capacity mixture
contain of milk and water in the ratio 2 :
3, 3 : 5 and 4 : 5 respectively. These three
bottles are emptied into a large bottle.
What is the ratio of milk and water
respectively in the large bottle?

rhu leku {kerk dh cksryksa esa nw/ rFkk ikuh ds feJ.k
dk vuqikr Øe'k% 2 % 3] 3 % 5 rFkk 4 % 5 gSA bu
rhuksa cksryksa dks ,d cM+h cksry esa [kkyh dj fn;k
tkrk gSA cM+h cksry esa Øe'k% nw/ rFkk ikuh dk vuqikr
D;k gS\
(a) 439 : 1080 (b) 439 : 641

(c) 439 : 360 (d) 439 : 79

46. The ratio of volume of three containers is
3 : 4 : 5. These are filled with mixture of
milk and water in the ratio 4 : 1, 3 : 1 and
5 : 2 respectively. All the three mixture are
poured into a fourth container, then what
will be the ratio of milk and water in fourth
container?

rhu ik=kksa ds vk;ru dk vuqikr 3 % 4 % 5 gSA bu rhu
ik=kksa esa Hkjs feJ.kksa esa nw/ vkSj ikuh dk vuqikr 4 % 1]
3 % 1 rFkk 5 % 2 gSA bu rhu ik=kksa ds feJ.kksa dks ,d
pkSFks ik=k esa Mky fn;k tkrk gSA pkSFks ik=k esa nw/ vkSj
ikuh dk vuqikr fdruk gksxk\
(a) 5 : 2

(b) 157 : 53

(c) 151 : 48

(d) 4 : 1
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47. 3 Vessels whose capacities are in ratio 3 :
2 : 1 are completely filled with milk and
water mixture of milk and water in the
Vessels are 5 : 2, 4 : 1 and 4 : 1 respectively.

On mixing 
1

3
rd part of first, 

1

2
nd part of

second and 
1

7
th part of third, a new

mixture is formed. The percentage of water
in new mixture is :

3%2%1 dh {kerk okys rhu crZu nw/ vkSj ikuh ls iwjs
Hkjs gq, gSaA crZuksa esa j[ks feJ.k esa nw/ rFkk ikuh dk
vuqikr Øe'k% 5 % 2] 4 % 1 rFkk 4 % 1 gSA igys feJ.k

dk 
1

3
 Hkkx] nwljs feJ.k dk 

1

2
 Hkkx vkSj rhljs dk

1

7
 Hkkx ysdj ,d u;k feJ.k rS;kj fd;k tkrk gSA

u;s feJ.k esa ikuh dk izfr'kr D;k gksxk\
(a) 25%

(b) 24%

(c) 20%

(d) 30%

48. Two candles of the same height are lighted
at the same time. The first is finished in
8 hours and the second in 6 hours.
Assuming that each candle burns at a
constant rate, in how many hours after
being lighted, the ratio between the first
and second candle become 2 : 1.

leku Å¡pkbZ dh nks eksecfÙk;k¡ ,d gh le; ij tyk;h
tkrh gSA igyh eksecÙkh 8 ?kaVs esa rFkk nwljh eksecÙkh
6 ?kaVs esa [kRe gks tkrh gSA eku ysa fd izR;sd eksecÙkh
fu;r xfr ls tyrh gSA eksecÙkh ds tykus ds fdrus
le; ckn igyh vkSj nwljh eksecÙkh dh yEckbZ dk
vuqikr 2 % 1 jg tk,xk\
(a) 2 hours 24 minutes

(b) 4 hours

(c) 1 hours 12 minutes

(d) 4 hours 48 minutes

49. Two candles of the same height are lighted
at the same time. The first is finished in
5 hours and the second in 4 hours.
Assuming that each candle burns at a
constant rate, in how many hours after
being lighted, the ratio between the first
and second candle become 6 : 5.

leku Å¡pkbZ dh nks eksecfÙk;k¡ ,d gh le; ij tyk;h
tkrh gSA igyh eksecÙkh 5 ?kaVs esa rFkk nwljh eksecÙkh
4 ?kaVs esa [kRe gks tkrh gSA eku ysa fd izR;sd eksecÙkh
fu;r xfr ls tyrh gSA eksecÙkh ds tykus ds fdrus
le; ckn igyh vkSj nwljh eksecÙkh dh yEckbZ dk
vuqikr 6 % 5 jg tk,xk\

(a) 3 hours

(b) 3 hours 45 minutes

(c) 2 hours

(d) can't be determined

50. If the ratio of sines of angles of a triangle

is 1 : 1 : 2 , then the ratio of square of

the greatest side to sum of the squares of

other two sides is :

;fn ,d f=kHkqt ds dks.kks a ds sines dk vuqikr

1 % 1 % 2  gS rks Kkr dhft, f=kHkqt dh cM+h Hkqtk

ds oxZ rFkk f=kHkqt dh ckdh nksuksa Hkqtkvksa ds oxks± ds
;ksx dk vuqikr D;k gksxk\
(a) 3 : 4

(b) 2 : 1

(c) 1 : 1

(d) 1 : 2

51. Petrol is 7 times heavy than Kerosene and

Castrol mobil is 18 times as heavy as

Kerosene. What should be the ratio of

petrol and Castrol mobil in the new

mixture to get the mixture which must be

11 times as heavy as kerosene?

isVªksy dsjksflu ls 7 xq.kk Hkkjh gS rFkk eksfcy] dsjksflu
ls 18 xq.kk Hkkjh gSA u, feJ.k esa isVªksy vkSj dsLVªksy
eksfcy dks fdl vuqikr esa feykuk pkfg, rkfd og
dsjksflu dk 11 xq.kk gks tk,\
(a) 3 : 4

(b) 7 : 4

(c) 9 : 19

(d) 9 : 10

52. The price of a necklace varies directly as

the no. of pearls in it. Also, it varies

directly as the square root of radius of a

pearl. The price of a necklace was ` 150,

when it had 75 pearls each of radius 1 cm.

Find the radius of the pearl of a necklace

having 100 pearls whose cost is ` 600.

,d gkj dh dher mlesa tM+s eksfr;ksa dh la[;k ds
lekuqikrh cnyrh gS vkSj ;g izR;sd eksrh dh f=kT;k
ds oxZewy ds lekuqikrh cnyrh gS tc blesa 1 lseh-
f=kT;k okys 75 eksrh yxs gksa rks bl gkj dh dher
`150 gksrh gSA ;fn gkj esa 100 eksrh tM+s gksa vkSj
bldh dher ` 600 gks rks izR;sd eksrh dh f=kT;k Kkr
djsaA
(a) 2

(b) 9

(c) 3

(d) 4
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